## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approval of Johnson O'Malley Program FY 2010 Budget Amendment 1 and the authorization of carry over funds from the FY09 Budget – Account #10-1210)

RESOLUTION NO. 10-175

1	WHEREAS, 1	the Tohono O'odham Nation through the Johnson O'Malley Program has provided
2	ď	${f d}$ irect services to Native American students attending the Baboquivari Unified School
3	I	District, Gila Bend Unified School District and the Division of Early Childhood
4	I	Development; and
5	WHEREAS, t	the Bureau of Indian Affairs has notified the Tohono O'odham Nation of the base
6	a	allocation modification $\#114$ of $\$126,712.00$ for the FY-2010 Budget, and an additional
7	ď	carry over amount of \$26,779.83 with the indirect cost at \$22,889.98 total amount of
8	s	\$176,381.81; and
9	WHEREAS, t	the FY-10 budget of \$153,491.83 with an indirect cost of \$22,889.98 for a total of
10	s	\$176,381.81 is being modified to reflect the decrease in salary and fringe benefits of
11	s	\$21,233.44 and decrease in line item 650 (tuition and registration) of \$500.00, 655
12	0	lodging) of \$500.00, 711 (communication) of \$500.00 and an indirect cost of \$4,398.92
13	f	for a total amount of \$27,132.36; and
14	WHEREAS, t	he FY-2010 Johnson O'Malley Program Modification/Amendment 1 will reflect a
15	c	${f combined}$ total of \$50,398.27 increased line items 622 (Employee Security Clearances),
16	7	712 (Gas, Oil, and Coolants), 722 (Program Supplies), 711 (RM Vehicles), 772 (RM
17	F	Building), 810 (Professional Services), 812 (Public Relations), 860 (Special Activities),
18	8	367 (Awards) with an indirect cost of \$5,978.82 for a combined total of \$56,377.09.
19	NOW, THERE	EFORE, BEITRESOLVEDtheTohonoO'odhamLegislativeCouncilherebyapprovesthe
20	J	$ohnson\ O'Malley\ Program, FY-2010\ Budget\ Modification/Amendment\ 1\ reflecting\ the$
21	b	oudget modification of the decrease of indirect cost, authorizes the line item 622
22	(1	Employee Security Clearances) and 772 (RM Building) to be included in the FY- 2010
23	F	Budget, and authorizes the FY09 carry over amount of \$26,770.83 to be included in the
24	r	revised allocation for a total amount of \$176,381.81.
25	BE IT FINALI	LY RESOLVED the Tohono O'odham Nation Chairman or Vice-Chairman is hereby
26	а	uthorized to negotiate and expend the budget provided that any amendment
27	a	iffecting the funding or funding levels of the budget shall be submitted for approval
28	ь	y the Tohono O'odham Legislative Council.
29 30		
50		

	RESOLUTION NO. <u>10-175</u> (Approval of Johnson O'Malley Program FY 2010 Budget Amendment 1 and the authorization of carry over funds from the FY09 Budget – Account #10-1210) Page 2 of 3
1 2 3 4 5 6 7	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 12 <sup>TH</sup> Day of MAY, 2010 at a meeting at which a quorum was present with a vote of 2,595.50 FOR; -0- AGAINST; -0- NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (f) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
8 9	TOHONO O'ODHAM LEGISLATIVE COUNCIL
10	
11 12	1/2 oct max base
13	Verlon M. Jose, Legislative Chairman
14 15	day of May, 2010
16 17	ATTEST:
L7 L8	
19	Wamilly h
20	Evonne Wilson, Legislative Secretary
21 22 23	17 day of Muy , 2010.
24	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham
25	Nation on the $\int \int day \ of \ \int $
26	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
27 28	upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.
29 30	TOHONÓ O'ODHAM LEGISLATIVE COUNCIL
31	1
32	1/ / (20)
33 34 35 36 37 38	Verlon M. Jose, Legislative Chairman
35	verion M. Jose, Legistative Chair man
36	
37	$\sim$ $\sim$ $\sim$ $\sim$
99	on the 19 day of 10, 2010  [ ] DISAPPROVED at 15 o'clock,
10	0.66
11	[ ] DISAPPROVED at $\frac{\sqrt{F \cdot S}}{\infty}$ o'clock, $\frac{V}{\sqrt{V}}$ .M.
11 12 13 14 15	Me Me
15	NED NORRIS, JR., CHAIRMAN
16	TOHONO O'ODHAM NATION

Returned to the	agislative Secretary on the	
	egislative Secretary on the $19$ day of, 2010, at $231$ o'clock, $7$ .M.	
May	, 2010, at $\frac{23}{2}$ o'clock, $\frac{2}{2}$ .M.	
	7.	
Millian II	Di	
vonne Wilson I	egislative Secretary	
vonne vrason, i	egisiative occietary	
٠		

ACTION: APPROVAL OF JOHNSON O'MALLEY PROGRAM FY 2010 BUDGET AMENDMENT 1 AND THE

AUTHORIZATION OF CARRY OVER FUNDS FROM THE FY09 BUDGET - ACCOUNT #10-1210

MOVED: COUNCILWOMAN SANDRA ORTEGA

SECOND: COUNCILMAN TIMOTHY JOAQUIN

DATE: MAY 12, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose)	99.35	х			X
<u></u>	2. MARY LOPEZ ( )	99.35	X			
SELLS	1. KIMBERLY LISTO	224.80	x			
449.6	2. EVELYN B. JUAN MANUEL	224.80	X			
SCHUK TOAK	1. FRANCES B. CONDE (Fredrick Jose)	79.50	X			
159.0	2. LINDA PARLEY (Agnes Joaquin)	79.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	102.35	x			
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis	102.35	X			
SAN LUCY 187.1	1. LORRAINE EILER	93.55	x			
107.1	2. GLORIA RÁMIREZ	93.55	Х			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	92.25	X			
184.5	2. EDWARD MANUEL (Gerald Fayuant)	92.25	х			
HICKIWAN	1. MICHELLE ORTEGA	87.25	X			
174.5	2. SANDRA ORTEGA	87.25	X			
GU VO	1. GRACE MANUEL	103.15	Х			
206.3	2. PAMELA ANGHILL (Absent) (Angela Ortiz) (Present)	103.15	X			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	X			•
230.1	2. CYNTHIA E. MANUEL	115.05	X			x
CHUKUT KUK	1. ETHEL GARCIA (Sara Mae Williams)	138.50	X			
277.0	2. VERLON M. JOSE	138.50	X			
BABOQUIVARI	FRANCES MIGUEL     (Roberta Harvey)	162.0	х			
324.0	2. FRANCES G. ANTONE (Vernon Smith)	162.0	x			
	TOTAL	2,595.50	2,595.50	-0-	-0-	[02]